Code and answers for questions 6 – 10    Comments are in GREEN

Question 6

All 10 array values = 1          print looks like         1 1 1 1 1 1 1 1 1 1
Question 7

Total number of negative values = 0

Question 8

Array b has 10 elements that all equal 1, just like a.

Question 9 

The print of a in reverse will still be   1 1 1 1 1 1 1 1 1 1.

Question 10.

Elements with values in a between 10 and 20 inclusive are 0.

public class Main

{


public static void main(String[] args) 


{



int[] a = new int[10];



int loop;



//Problem 6    loop to add 1 to each element in a



for(loop=0; loop<a.length;loop++)                //a.length = length of array a


{



    a[loop]=a[loop]+1;                                    //goes to one less than length


}                                                         //because index starts at 0 and ends at


                                                 //length -1   ("off by one" common mistake)



//verify  - all values should be 1 since an integer array has 



//all values intialized to 0 when created.



for(loop=0; loop<a.length;loop++)             //must print out the members of 



{                                                                //the array individually by index


    System.out.print(a[loop]+ " ");             



} 



System.out.println();



//Problem 7  Count the number of negative numbers in a

       

 int totalNegatives = 0;                             //counter for negative numbers
       

 for(loop=0; loop<a.length;loop++)

        

{

            

if(a[loop]<0)                                //if element is negative

                

totalNegatives++;

        

}

       

System.out.println("The number of negative values is "+totalNegatives);

//Problem 8.  Create a new array b the same size as a and copy the elements from a //into b.



int[] b = new int[a.length];                       //create a NEW array b of size a



                                                         //could have also put 10 in the brackets



                                                 //but what if we DON'T know the size of a?
for(loop=0; loop<a.length; loop++)



{



    b[loop]=a[loop];                      //copies element from index position loop


}                                               //in array a to same index position in array b



//print to verify



for(loop=0; loop<a.length;loop++) 



{



    System.out.print(b[loop]+ " ");             



}



System.out.println();

//Problem 9 Print the elements of A in reverse order

      //problem 9 print the elements of a in reverse order
        int end = a.length-1;             //find the last index position of a

                                         
     //remember if a is length 10, the LAST 

                                                     //INDEX position is 9. The FIRST is 0
        for(loop = end; loop>=0;loop--)             //count backwards from end of array
        {                                 


//to beginning
            System.out.print(a[loop]+" ");           // print the element at index position “loop”
        }

        System.out.println();

//Problem 10:  Count the number of elements in a that have a value between 10 and //20 inclusive.

//problem 10 - number of elements in a between 10 and 20 inclusive

 int numFound = 0;                  //counter variable for number of elements

                                  

//between 10 and 20.  Set = 0 until we find some 

        for(loop=0; loop<a.length;loop++)

        {

            if(a[loop]>=10 && a[loop]<=20)     


//value at index position loop 

            {                                  




//between 10 and 20
                numFound++;                    



//increase the counter by 1
            }

        }

        System.out.println("Number of elements between 10 and 20 is "+numFound);


}  //end of main method
}             // end of class Main
